
1. A bag weighs 3 kg and another weighs 2 kg 

Total weight = ___________ kg 

2. Tick the correct option 

500 g + 500 g = 

(a) 1 g 

(b) 1000 g 

(c) 100 g 

3. Fill in the blank 

1 kg = ___________ g 

4. A puppy weighs 2 kg 300 g and another weighs 1 kg 500 g 

Total = ___________ kg ___________ g 

5. Match the weights 

(a) 2 kg + 1500 g   (i) 2 kg 

(b) 1 kg + 1 kg    (ii) 3 kg 500 g 
(c) 250 g + 750 g   (iii) 1 kg  

6. A basket has 600 g apples and 400 g mangoes 

Total = ___________ g = ___________ kg 

7. Add and fill 

3 kg + 500 g = ___________ kg ___________ g 

8. Rani buys 2 kg flour and 800 g sugar 

Combined weight = ___________ 

9. Tick the set that makes 1 kg 

(a) 400 g + 400 g 

(b) 600 g + 400 g 

(c) 200 g + 300 g 

Addition (Kilogram and Gram) 



10.  A cake weighs 1 kg 200 g. Another weighs 1 kg 300 g 

Total weight = ___________ 

11. Draw two bags 

Bag A = 1 kg 

Bag B = 500 g 

Write total weight = ___________ 

12. Fill in 

700 g + 800 g = ___________ g = ___________ kg ___________ g 

13.A watermelon weighs 4 kg 300 g

A pumpkin weighs 3 kg 700 g 

Combined weight = ___________ 

14. Add and choose 

600 g + 600 g = 

(a) 1 kg 

(b) 1200 g 

(c) 600 kg 

15. Ria has 1 kg 150 g of sweets. Tina has 2 kg 100 g 

Together they have = ___________ 

16. 2 kg + 1 kg + 500 g = ___________ 

17. Convert and add 

1 kg = 1000 g 

1000 g + 250 g = ___________ g = ___________ kg ___________ g 

18. A bag of wheat is 5 kg. A bag of rice is 4 kg 500 g 

Total = ___________ 
  


